o6 FEE—RE AR (¥ v %)

SRR (BiA)

s 1IRE[AT 4 72 0 BT

SRR (BiaA)

s 1IRE[AT 4 72 0 BT

SRR (Blid)

: 1R 2 72 D) B

i
Wi 4 B ﬁ%z WA N | 6 B BELAT
(nd) (4) (M)
APfiERE 298 270 3, 900
DR 75 30 1, 000
91 PR E 144 130 2,100
02 PR E 176 144 2, 500
053 PR E 176 144 2, 500
91N E 81 55 1, 200
02 /iR E 81 55 1, 200
0% 3 /il FRE 81 55 1, 200

SRR (BiA)

s 1IRE[AT 2 72 0 BT

o = T

o WA | WA AEL | fE AR

W iR (nd) 4) (1)

% A= 215 135 3, 000

GOREE (BiA) BRI 7= 0 Wifh
M9t

o WA | WA AEL | AR

W iR (nd) 4) (1)

3 MEEEE 83 30 1, 100

SRR (BiA)

s 1IRE[AT 4 72 0 BT

T O O Fi &

H # 7 B ™ EREEEE > & —
Wi 4 B Eﬁéz U NH | 5 FRE LA Wi 4 B 1A FE 2 A N B | o R BE BTG
(nf) (4) (M) (nf) (4) (M)
Kl = 221 170 3, 100 EESES Y 205 120 2, 800
R 148 80 2, 000 tIfF—E1 81 30 1,100
o0 R 142 80 1,900 I F—E2 59 30 1, 000
FiZ HER = 85 30 1, 200 TI)—E3 37 12 600
KFPana= 41 12 600
=301 28 12 400 R (BUA)  : LR 7= 1) B
£ I —5302 28 12 400 BHAT ANV Iab—varkr—
£ I —=303 28 12 400 M R% 44 B mifE | DA AER | A R
£ I —=E304 28 12 400 (nt) (4) (M)
2 F—=2401 22 12 300 YIal—var—nl 110 40 1, 500
I —=402 24 12 400 YIal—iar—An2 69 30 1, 000
I —=403 45 12 700 vy kTR 86 30 1, 800
Ial—i g —A3 41 20 700
SREL (BA) : LBERS 72 1) BA(T viab—vas—h4 55 20 800
B O Ial—i gL —A5 57 20 900
- AR | A ANER | A DR ELA YIal—Tar—L06 52 20 800
it 5% 44 , — :
(nt) (4) (M) YIal—igr—A7 51 20 800
REHE 154 60 2, 100 YIal—yalri—Aia8 51 20 800
R E 71 30 1, 000 ML —= =25 115 50 1, 800
[FEL (BiiA) 1R 72 0 HAfT
o == T I
g | R | | e A e = (LD o Ll Ly
(m) ) (1) SR APBHC T, R BLAYE 2 COET,
N 299 278 4, 200 IR T %A O BHIB & lc B EN TV ET,

n [HIFH fif FBH LG

W iR () (1)

NN 864 1, 400
B BRI 12, 164 1, 000

KBHWADEEIZOWTIL,
Wy,

MEERFAD ZRN) 2 25k




